ZhA—-7 ié
2
J Q 2X2-M4RE8 T 91 f1
‘12 4-gm 4-Sx{ 55 ,ﬂ‘ﬂ/& 4-M5X12 Ma Ms Mo
G ‘ :/://: :J’ I [ R I S Fi ] /\ /\
Yoy k A\
He e ¢dd BT '¢di @ o ! d&
BW o AW B2 © © s
Fan BN A K @} H) © fo o]
Do Rl e 2-Soxtl1 1% @ © e © o o Lie e} |
R A 57— | f] A=
EE A, Roatinll | l HEE 1
EERR
F2 Gz M1 92 f2
F1 G1 5.5 Lo
L M
BT mm
SPN ASAITE ASAHIE
u¥o§ﬁ;§ 1 |\|:|—7 :J U yg‘ Eéﬁ;ﬁh _l%'il__é_ WE
- /s +0.5 Az (500kPaf) M W L T B F: G SXx¢ m Ga F2 J Q R M
0 N +0.05
LSC 1015 15 10 38.2 25 50 80 24 20 40 20 M4 X7 5.5 12.5 40 — — — 16.5
LSC 1515 15 15 86.3 30 70 80 21 30 40 19 M5X%8 9 28.5 40 29 22 4 21
LSC 1530 30 15 86.3 30 70 110 21 30 60 25 M5X8 9 35 60 44 22 4 21
LSC 1550 50 15 86.3 30 70 150 21 30 100 25 M5X8 9 50 50 64 22 4 21
N=R % R—AE BUSTEE— XV K BEREREE g8
= Lo B- fo ge fi o diXdexh A Ss Wi H Sext Ml\T- r'::'ﬂ NMﬁn E ?\;’ kg
LSC 1015 80 20 40 20 — — 3.3%X56.5X3.5 13 M4 31.2 5.5 M5X%X5 4.9 7.45 392 676 0.25
LSC 1515 80 30 40 21 23 29.5 5.2X9X%x5.5 17 M6 45 10.5 M5X4.5 4.9 11.1 392 676 0.37
LSC 1530 110 30 60 25 40 35 5.2X9X5.5 17 M6 45 10.5 M5 X% 4.5 8.43 15.4 549 951 0.52
LSC 1550 150 30 100 25 78 36 5.2X9X%X5.5 17 M6 45 10.5 M5X4.5 15.4 2241 794 1350 0.72
- E)MacMe Meld ERICTRI RS ICRS A F 1EDSZEDHFEE—XY METTY.
FURZBOERS
LSC1515 B S L
== -~
HURE
A= ybR—R =
HNEBR )
USybRAvFfE
AE)LSC1015DI=y MR—ZABRUHNER b/ UZy bRA v FHEFABELTED R A
AE=RIYPO-3EFFTYaVELEDET,
SEIOYO—RETIZAIY AT .
[N9-12 AnAIxK BB EREL TS https://tech.thk.com TR E9-13

ey A—NL=n .



